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No TR BiE ma(m) BRAGARDOH) HE
R1 hAR A—X<!)— 0.9
u3 =R % | 32 0.10
s4 R 24297 0.9
vi ==}/ N 7OT 0.9
21 R JayEvysy 1.1
22 R UYL A M 1.1
Z3 R UELyL AV M 1.1
t4 hAR NS 1.1
27 R JaEysy 1.2
Z9 R UELyL A M 1.2
Q2 PR RS 1.3
210 R JaEysy 1.3
t1 R NS 1.3
t2 R NS 1.3
t3 AR NS 1.3
w1 =)/ N DY RAZY 14
Y7 R hy 14
S4 R FRZEF 15
Z5 R UYL A M 1.6
s22 R 214599 1.6
s26 R 24599 1.6
s27 R 24599 1.6
u2 R o3 1.6
al R T4 1.7
i1 AR HIILANI) 1.7
sH R 24297 1.7
s6 =2/ N 4599 1.7
s9 R 2145979 1.7
s19 R 24297 1.7
s20 R 314599 1.7
s21 K 214599 1.7
s23 R 24599 1.7
ul R yo3 1.7
s7 R Z145v9 1.8
s8 hR 2145979 1.8
s25 R 24297 1.8
s24 R S145v9 1.9
B R AXYY 20
H8 R RNZNTAEF 20
H9 FAR RZAFAEF 2.0
H10 hR RZHTFAEF 2.0
Hi1 R RNZNTFAEF 20
H12 AR RZHFAEF 2.0
H13 R RZHTAEF 2.0
H14 R NPT AEF 20
H15 R NPT AEF 2.0
H16 R RZHTAEF 2.0
H17 R NPT AEF 20
H18 R RNZNTAEF 20
H19 R RZhTFAEF 2.0
H20 hR RZHTFAEF 20
H21 R NPT AEF 20
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No TR BE ma(m) BRAGARDOHA) HE
H22 AR RZHTAEF 2.0
H23 R NPT AEF 20
H24 R RZNTAEF 2.0
H25 =2/ N R-DTFAEF 2.0
H26 R RZHTFAEF 2.0
J13 R JOHFEF 20
J16 R JONREF 2.0
K23 R HHh 20
71 R EA4SF 2.0
Z6 R UELyL A M 2.0
s10 AR Z145v9 2.0
s11 R 24599 2.0
s13 R 24297 2.0
c7 =P/ AO/NEZD 35 0.12
p6 =R INFEXF 4.0 0.15
X5 =R YYEE 3.0 0.16
c4 =P/ AO/NEZD 33 0.16
c8 (= N AANEID 3.1 0.16
s14 R 24297 2.0
p5 =R NFEXF 4.0 0.16
s17 R 24599 2.0
s18 R 24599 2.0
J7 R HOHFEF 2.1
p7 =A NFEIXF 4.0 0.16
J11 R JOHFEF 2.1
K8 R HHUh 2.1
K11 FAR HHh 2.1
s12 R 2145979 2.1
pl =R NFEXF 45 0.18
p2 =R NFIXF 45 0.18
s15 AR 34599 2.1
J2 R JOHFEF 2.2
J6 R HOHF+EF 2.2
K4 AR HHh 2.2
p4 =R INFEXF 45 0.18
X4 =R YYEE 3.0 0.19
X6 =R YYEE 4.0 0.19
S1 =R FRZEF 3.0 0.20
c5 SN AO/NEID 3.0 0.20
c12 =K AO/NEID 3.1 0.20
K6 R HHh 2.2
K7 R HHUh 2.2
K10 FAR HHoh 2.2
K12 AR HHh 2.2
s16 R 245979 22
J3 R HOHF+EF 2.3
J4 R HOHAFREF 2.3
J5 R JOHFEF 2.3
J10 R HOHF+EF 2.3
K1 R HHh 2.3
K5 R HHh 2.3
J1 R JOHFEF 2.4
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No TR BE ma(m) BRAGARDOHA) HE
J14 R HOAFREF 24
J17 hR JOHFEF 24
p3 =R NFEXF 45 0.20
c3 (= AO/NEZD 35 0.21
c6 (= N AONEID 45 0.22
c10 =K AANEID 3.7 0.24
s3 =K 24290 4.0 0.24
a3 =R NIRIY 35 0.25
K9 R HHUh 24
a6 =R YIROY 3.9 0.25
K21 AR HHh 2.4
ab =R VIR 3.7 0.26
K3 R HHUh 2.4
J8 =5}/ N HOAREF 25
K2 R HHh 25
a4 =R VIR 36 0.28
X7 (=7 N YIEE 3.3 0.30
j1 =R YA/ 35 0.30
ql =R VIR 3.7 0.30
q2 =R NYIRIY 38 0.30
M2 =R Y30 3.1 0.31
D7 [=/ N VAE 4.0 0.33
X8 (=P N YYEE 3.3 0.34
X9 =A YIEE 33 0.35
(V27 =R HhAIhA4TFx 35 0.35
M1 =R Ho30a 3.1 0.38
K13 FAR HHh 25
K14 R HHh 25
N2 =R TohY 5.0 0.40
K15 R JHh 25
K17 R HHh 25
K18 R HHUh 25
K19 R HHUh 25
K20 R HHh 25
X3 hR YIEE 2.5
Z4 R UELyL AV M 25
78 R UELyL A0 25
c9 ==p N AONESD 2.5
cll =/ N AO/NEID 25
j2 R VR 2.5
J12 R HOHFEF 26
K24 R HHUh 26
X2 R YIYEE 26
cl ==}/ N AONEID 2.6
c2 =2p N AANEID 2.6
s R 24297 26
s2 R Z145v9 2.6
H5 R NPT AEF 2.7
H6 R RNZNTAEF 2.7
H7 R RZhTFAEF 2.7
K16 R HHh 2.7
c13 ==p N AANEID 2.7
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J9 R HOAFREF 2.8

J15 hR JOHFEF 28

K22 R HHUh 2.8

Q7 == N kRS 2.8

S3 R FRZEF 2.8

X1 R YIEE 2.8

N1 R ohY 29

L V4 =R HAIh4T+x 4.0 0.45
S2 R FRAZEF 29

v2 EX 7Ox 0.4

v3 BEXR 7Ox 0.5

LV7 =R ErEES 4.0 0.45
L\8 =R HAIh4T+x 4.0 0.45
LM =R HAIh4T+x 4.0 0.45
L5 =R HhAIhA4TFx 4.0 0.46
L\ =R EWrEES 4.0 0.46
LMO =R HAIh4T+x 4.0 0.47
LM =R HAIh4T+x 4.0 0.48
LV2 =R HhAIh14TFx 4.0 0.48
LM2 =R HAIh4T+x 4.0 0.48
L\6 =R HAIhA4T+x 4.0 0.49
L3 =R HhAIhA4TFx 4.0 0.50
LV37 =R HAIh4T+x 3.0 0.50
1138 =A HAIh4T+x 3.0 0.50
L 40 =R HhAIhA4TFx 3.0 0.50
L V44 =R H1Ih4T+x 3.0 0.50
LV45 = HAIh4T+x 3.0 0.50
L V47 =R HhAIhA4TFx 3.0 0.50
V48 =R EWrEES 3.0 0.50
1149 =R HAIh4T+x 3.0 0.50
LY50 =R HAIhA4T+x 3.0 0.50
LV53 =R HhAIh14TFx 3.0 0.50
LV13 =R H1Ih4T+x 4.0 0.56
LV18 =R HAIh4T+x 4.0 0.58
LV33 =R HhAIhA4TFx 4.0 0.58
U1 =R <HE 4.0 0.60
U2 =A <HE 4.0 0.60
LM5 =R HhAIh14TFx 4.0 0.60
LM16 =R H1Ih4T+x 4.0 0.60
LM7 = HAIh4T+x 4.0 0.60
)20 =R HAIh4T+x 4.0 0.60
LV22 =R HhAIh14TFx 4.0 0.60
LV32 =R HAIh4T+x 4.0 0.60
LV39 =R HAIh4T+x 32 0.60
L 41 =R HhAIhA4TFx 3.2 0.60
LV42 =R HAIh4T+x 3.2 0.60
(V43 =R HAIh4T+x 32 0.60
LV46 =R HhAIhA4TFx 3.2 0.60
LV51 =R 1 Ih4T+x 32 0.60
L\52 =A HAIh4T+x 3.2 0.60
&3 =R EXTVRE 5.0 0.60
LV34 =R HhAIh14TFx 4.0 0.61
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)30 =R HAIhA4T+x 4.0 0.62
L6 =R EXTVRE 6.0 0.62
LM19 =R HA1Ih4T+x 4.0 0.63
L35 =A HAIh4T+x 3.0 0.63
L)36 =R HAIh4T+ 3.0 0.63
LV21 =R HhAIh14TFx 4.0 0.65
LV25 =R HAIh4T+x 4.0 0.65
&5 =R EXIVR¥E 5.0 0.65
LM4 =R HhAIhA4TFx 4.0 0.66
LV31 =R HAIh4T+x 4.0 0.66
L\26 =R HAIh4T+x 4.0 0.68
&9 =R EXTSVRFE 6.0 0.68
10 =R EXTSVRFE 6.0 0.68
LV28 =R HhAIh4TFx 4.0 0.70
&2 =R EXTVRE 5.0 0.70
&7 =R EXSVRFE 6.0 0.72
LV24 =R HAIh4T+x 4.0 0.75
L8 =R EXTVR¥E 6.0 0.75
LV54 =R HhAIh14TFx 38 0.78
L\55 =R HAIh4T+x 3.7 0.78
V23 =R HAIhA4T+x 4.0 0.80
b =R EXSVRFE 5.0 0.90
LV29 =R HAIh4T+x 4.0 0.94
&4 =A EXSVRE 5.0 0.94
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No TR BiE =1 =(m) EAE(n) fr K 5 E () &=

1 R AL AP 0.6 1.0 34
2 hR wAVE VA 0.7 10 38
3 R YYD 0.9 1.0 46
4 EXR AL AP 0.3 14.0

5 EXR WAVE VAP 0.5 8.0

6 EX HUXxIYD 0.3 7.0

vl EXR AL A% 0.4 21.0

+8 EXR VAL AP 0.4 20.0

9 EX wAVE VAP 0.3 10.0

E1 R Es/N 0.6 1.0 3.4
E2 hAR [wA 0.7 1.0 38
E£3 R E/N 0.7 10 3.8
E4 R Es/N 0.7 1.0 338
E5 =P N (<A 0.7 1.0 38
E6 R E/N 0.7 10 3.8
E7 R Es/N 0.7 1.0 38
E8 R Es/N 0.7 1.0 38
E9 R E/N 0.6 1.0 3.4
E10 R Es/N 0.6 1.0 34
E11 =)/ N E/N 0.6 1.0 3.4
E12 R e/ 0.6 10 3.4
~Aq R NPT AEF 2.1 6.0 37.8
m | =)/ N O—X<1)— 0.6 10 3.4
Z1 A ZA 12.0

Z2 a3 DA 20.0

Z3 <& DA 180.0

4 a3 PZA 30.0

25 a3 D7A 14.0

Z6 = TA 8.0

7 A N 9.0

Z8 A N 14.0

29 a2 D7A 12.0

210 a3 N 6.0

Z11 A ZA 35

212 a3 D7A 15

213 <& DA 15

Z14 a3 A 2.0

Z15 a3 DA 2.0

216 <& DA 15




BAR-PAR-ER RE—E

11 FHEDEREZREHN

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) %
p20 =mA NFIXF 38 0.15
p18 =mA NFIXF 42 0.18
p25 =mA NFIXF 35 0.20
ET1 = A FUEEA 35 0.30
E2 = A FUEEA 35 0.30
E3 = A FUEEA 35 0.30
E4 = A FUEEA 35 0.30
E5 = A FUEEA 35 0.30
E6 =R XUEIEA 35 0.30
E7 =R XUEIEA 35 0.30
E8 =R XUEIEA 35 0.30
E9 =R XUEIEA 35 0.30
E10 = FUoEYSEA 35 0.30
ET1 = FUoEYSEA 35 0.30
E12 =R XUEIEA 35 0.30
E13 =R XUEIEA 35 0.30
E14 =R XUEIEA 35 0.30
E15 =R XUEIEA 35 0.30
E16 =R XUEIEA 35 0.30
E17 =R XUEIEA 35 0.30
E18 =R XUEIEA 35 0.30
E19 =R XUEIEA 35 0.30
pl =R NFERF 40 0.30
p2 =R NFEXF 40 0.30
p3 =R NFERF 40 0.30
p4 =R NFERF 40 0.30
p5 =R NFERF 40 0.30
p10 =R NFERF 40 0.30
p11 =R NFEXF 40 0.30
p24 =R NFERF 40 0.30
p26 =R NFERF 40 0.30
p27 =R NFERF 40 0.30
p28 =R NFEXF 40 0.30
p29 =R NFEXF 40 0.30
p30 =R NFEXF 40 0.30
p9 =R NFEXF 42 0.30
p23 =R NFEXF 45 0.30
N10 E=% N TShY 5.0 0.30
t5 =R HX¥ 5.0 0.30
36 =R b 8.0 0.30
p7 =R NFEXF 4.0 0.36
p8 =R NFEXF 4.0 0.36
p6 =R NFEXF 45 0.36
p12 = NFEXF 42 0.40
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p13 =mA NFIXF 45 0.40
vi B R XLITIID 1.0
v2 B R XLITIID 1.2
ut AR HILZT 15
St B R FRAIEF 2.0
X1 th R DT 2.0
t3 =mA HX¥ 5.0 0.40
30 =mA ¥ 6.0 0.40
t16 =R vt 8.0 0.40
t13 =R vt 6.0 0.50
t50 =R vt 6.0 0.50
22 =R vt 10.0 0.50
t11 =R HRE 5.0 0.60
N19 = A ohY 6.0 0.60
N24 = ohY 6.0 0.60
26 =R vt 6.0 0.60
ul = A aF5 6.5 0.60
s (=% N pi= 7.0 0.60
t4 =R XX 7.0 0.60
t35 =R vt 7.0 0.60
43 =R vt 7.0 0.60
t8 =R vt 8.0 0.60
t9 =R vt 8.0 0.60
t19 =R vt 8.0 0.60
45 =R vt 8.0 0.60
29 =R vt 9.0 0.60
39 =R vt 10.0 0.60
42 =R vt 10.0 0.60
31 =R vt 12.0 0.60
g2 =R 7Y 6.0 0.66
g3 =R 7Y 6.0 0.66
gl =R 7Y 55 0.69
N2 =R ohY 6.0 0.70
25 =R IX¥E 10.0 0.70
N31 E=% N TohY 5.0 0.80
N16 E=% N TohY 55 0.80
N20 E=% N TohY 6.5 0.80
N25 E=% N TohY 6.5 0.80
t34 =R IX¥F 9.0 0.80
t41 =R b 9.0 0.80
N12 =K TohY 55 0.90
N14 =K TohY 55 0.90
N1 =R ohY 6.0 0.90
N4 = TohY 6.0 0.90
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No TR HiiE Eam)  BAGADH) %
N5 =mA ohY 6.0 0.90
N6 =mA ohY 6.0 0.90
N17 =mA ohY 6.5 0.90
N18 =mA ohY 6.5 0.90
N23 =mA ohY 6.5 0.90
N29 =mA ohY 6.5 0.90
N22 =mA ohY 7.0 0.90
g4 = A 7YX 7.0 0.90
gl15 =K 7YX 8.0 0.90
gl16 =K 7YX 8.0 0.90
49 =R vt 8.0 0.90
u2 = - ] 8.0 0.90
g18 =K 7YX 9.0 0.90
t23 =R XX 9.0 0.90
t24 =R vt 9.0 0.90
t47 =R vt 9.0 0.90
t1 =R HRE 10.0 0.90
t12 =R vt 10.0 0.90
t14 =R XX 10.0 0.90
t27 =R vt 10.0 0.90
32 =R vt 10.0 0.90
t44 =R vt 10.0 0.90
46 =R vt 10.0 0.90
t6 =R vt 11.0 0.90
t15 =R vt 11.0 0.90
37 =R vt 11.0 0.90
38 =R vt 12.0 0.90
g8 =R 7Y 6.0 0.93
N3 =R IhY 6.0 1.00
g6 = A Rty 6.0 1.00
N27 =R IhY 6.3 1.00
gl7 =N 7YX 8.0 1.00
gb =R 7YX 6.0 1.05
g9 =R 7YX 7.0 1.05
g10 =R TN 7.0 1.05
N32 E=% N TohY 6.0 1.10
N13 E=% N TohY 6.5 1.10
N26 E=% N TohY 7.0 1.10
N28 E=% N TohY 7.0 1.10
N30 =K TohY 75 1.10
g12 =R 7YX 8.0 1.10
t51 =R b 9.0 1.10
t10 =R b 11.0 1.10
20 = IX¥ 11.0 1.10
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t21 = A ¥ 12.0 1.10
N1T =mA ohY 6.0 1.20
N15 =mA ohY 6.5 1.20
N271 =mA ohY 7.0 1.20
g13 =K TN 8.0 1.20
gl =K TN 9.0 1.20
gl4 =K TN 10.0 1.20
28 = A ¥ 10.0 1.20
t48 =R vt 10.0 1.20
t18 =R vt 12.0 1.20
t2 =R vt 9.0 1.30
52 =R vt 9.0 1.30
s14 =R v 7.0 1.50
g7 =R 7Y 6.0 1.68
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+-38 EXR AL AP 0.3 05

49 EXR wAVE VA 0.3 10

3 R YYD 0.6 8.0 13.4
4 R AL AP 0.6 5.0 8.2
5 R WAVE VAP 0.6 17.0 27.2
6 R HUXxIYD 0.6 6.0 9.6
97 R AL A% 0.7 8.0 13.6
455 EXR VAL AP 0.3 45.0

1 EX wAVE VAP 0.4 6.0

P11 EXR AL A% 0.4 8.0

14 EXR AL AP 0.4 12.0

415 EX wAVE VAP 0.4 9.0

4416 EXR LA 0.4 8.0

22 EXR AL AP 0.4 8.0

425 EXR WAVE VAP 0.4 8.0

134 EX HUxUUD 0.4 2.0

H17 R LA 0.6 20.0 308
435 EXR I IID 0.4 1.0

136 EX HUXxIYD 0.4 1.0

437 EXR AL AP 0.4 1.0

450 EXR VAL AP 0.4 2.0

51 EX wAVE VAP 0.4 2.0

452 EXR AL A% 0.4 1.0

453 EXR AL AP 0.4 18.0

54 EXR WAVE AP 0.4 12.0

60 EX YYD 0.4 16.0

462 EXR AL AP 0.4 676.0

63 EXR WAVE VAP 0.4 7.0

92 EX HUxUUD 0.5 6.0

8 EX LA 05 22.0

9 EXR I IIT 0.5 11.0

10 EX YYD 05 10.0

12 EXR AL A% 0.5 7.0

13 EXR AL AP 0.5 9.0

18 EXR wAVE VAP 0.5 8.0

519 EX YUY 05 7.0

20 EXR AL AP 05 11.0

21 EXR wAYE VA 0.5 6.0

439 R YYD 0.7 18.0 44.6
440 R AL AP 0.7 135 25.3
423 EXR AL AP 0.5 8.0

124 EX YYD 0.5 8.0

26 EX LA 05 8.0

27 EXR AL AP 0.5 8.0

428 EX wAVE VAP 0.5 8.0

429 EX LA 05 8.0

430 EXR AL AP 0.5 8.0

431 EXR wAVE VAP 0.5 40

432 EX YUY 0.5 4.0

433 EXR AL AP 05 4.0

41 EXR W AVESVAID 0.5 3.0

142 EX HUxUUD 0.5 3.0




HiE-2%E FAE—ER
1 FHEDEREEREHA
e A=H7600m L E3mAK i {EA=HE60omKiH Z=Z %
No TR BE =1 =(m) EE(n) fh K 5 E () &=

43 ER AL AP 0.5 6.0

44 EXR wAVE VA 0.5 9.0

145 EX YYD 05 3.0

46 EXR AL AP 05 4.0

H47 AR W AVESVAID 0.5 2.0

148 EX HUXxIYD 0.5 3.0

1 R ALY FIVD 0.8 3.0 5.9
Y2 R FTALFHFIID 0.8 10 2.6
V3 R ALY TIID 0.7 33.0 58.9
V4 R ALY FIYD 0.8 28.0 40.4
V5 R TH LS XY ID 0.6 64.0 113.9
6 R FTA LT FIVD 0.8 8.0 20.4
Y9 R THLSHFIID 0.6 6.0 10.8
N R NPE AN 0.8 19.0 51.0
K2 AR (N2 SIS 0.9 3.0 12.5
K3 R (NI 0.9 110.0 180.3
k4 R NPE AN 0.8 9.0 34.0
k5 PR NPE AN 0.9 5.0 22.0
~6 R (NP PN 0.7 40 15.2
K7 R (N PAINID 0.8 7.0 11.4
~8 FAR NP AN 0.8 5.0 9.8
~9 AR (N2 AN 0.8 8.0 18.1
K10 R (NP 0.8 1.0 34
K11 R NPE AN 0.8 25.0 46.6
K12 PR (N2 SIS 0.7 21.0 40.3
K13 AR (NP 0.7 5.0 10.4
K14 R NPE AN 0.7 45.0 65.0
K15 AR (N2 BAVAIS 0.7 19.0 35.7
K16 R (NI 0.7 19.0 35.7
K17 R NPE AN 0.7 21.0 37.1
1 R FrRZEF 1.6 260.3 904.5
12 R FRAZEF 25 29.0 84.0
~A1 R NPT AEF 25 22.0 118.1
~2 R RZHTAEF 2.5 19.0 109.6
=1 hR IYNYYD 0.8 10 26.0
22 R YYD 0.9 1.0 2.8
33 R SYNYYD 0.8 1.0 2.6
24 R IYNYYD 0.9 1.0 2.8
35 R SYNYYD 0.8 10 2.6
36 R S ANVAILY 0.8 1.0 2.6
37 R IYINYYD 0.7 1.0 2.4
=8 R SYNYYD 10 10 3.0
&2 <& DZA 40.0

iy a3 HRHFH 132.0

2 a2 I3 Y 12.0

=1 <& Jary/el 240.0

=2 a2 Jay/es 11.0

=3 a3 Yoo/ es 1.0

=4 <& Jary /ey 13.0

&5 <& Yoy /ey 7.0

=6 a3 Yoo/ el 70.0

=7 <& Jary /ey 40.0
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L4 =2/ N WAYE YA 0.6

(21 R Evo 0.6

U1 R EShoY 0.7
j1 =A ER 4.0 0.26
~6 =R E/¥ 30 0.31
ql R LS 0.7

a2 R AVES 0.7

a3 AR ¥ 0.8

K1 R HHUh 0.9

L5 R AL A% 0.9

D12 (=P YINE 30 0.35
Y2 R T 0.9

M15 =K o320 3.1 0.35
St =R FRAIEF 3.2 0.35
Y3 R T 0.9

wit AR < aA 1.0

J5 R EF/F 1.1

~5 =R /¥ 3.0 0.35
D7 =K VAE 36 0.38
S6 R RRXIEF 1.2

S7 R FRRZEF 1.2

w2 =2p N £ aA 1.2

Y4 AR T 1.2

K2 R HHh 1.3

wi AR Lo¥aD 1.3

Y1 R T 1.5

BT R AXYH 1.6

B2 R AXIY 1.6

J2 R EF/F 1.6

J9 R EF/F 1.6

J13 == N EF/¥ 1.6

t1 iR INT 1.6

D9 R VIAE 1.7

U1 =P N E= 1.7

J6 R EF/F 20

K4 R HHUh 2.0

A3 =A AXIF 3.9 0.40
S3 R FRZEF 20

A4 =R AXIFx 45 0.40
Y5 R T 2.0

K18 R HHh 2.1

D8 ==p N VAE 2.2

J4 R EF/F 2.2

21 R T 2.2

D7 =2p N VAE 2.3

J10 =P N EF/Xx 2.3

L7 ER AL AP 0.4

L2 EXR wAVE VAP 0.5

L3 EXR YUY 05

K5 R HHh 2.3

K12 R HHh 2.3

L6 EXR HUxUUD 0.4




BR-hA-ER BE-E

12 BEEHFEHERESHREBM

KEAR=BEmImULE AR E60cmLl L3mEH EAR=#Z60cmEiH

No TR BE ma(m) BRAGARDOHA) HE
L7 EXR AL AP 0.4
L8 EXR wAVE VA 0.4
L9 EXR YYD 0.4
L10 EXR AL AP 0.4
D3 (= N YINF 35 0.42
D4 =K VAE 33 0.42
El =R FUEIEA 33 0.42
K7 (ST HHh 3.1 0.42
K10 (SN HHUh 35 0.45
LM =R HAIh4T+x 4.2 0.45
~4 =R /¥ 5.0 0.48
~9 =R E/% 48 0.48
~7 =K E/% 4.0 0.50
M10 =R Hoa90a 35 0.55
A2 =R AXIF 42 0.55
v3 =R AXT 3.7 0.56
L5 =R HAIh4T+x 4.0 0.60
D13 (=P YINF 32 0.63
M1t =R Hrdoa 3.1 0.63
L V4 R HAIh4T+x 2.3
i8 =R YA/ 42 0.63
J1 R EF/F 24
K3 AR HHh 2.4
D2 R VIAES 2.5
K6 R HHUh 25
s1 R INFRA 25
~8 = E/% 5.0 0.68
A1 R AXIF 25
D11 R VA= 26
D15 R YINF 2.6
J7 hAR EF/F 2.6
K13 R HHUh 26
K14 R HHh 2.6
~11 =R /% 6.0 0.69
D10 =K YINFE 33 0.70
M8 =K o302 3.0 0.70
52 =R FrRAIEF 4.0 0.72
~10 =R E/% 5.2 0.72
M4 =R Ho30a 3.0 0.74
M13 =R Ho30a 39 0.77
K17 R HHh 26
J8 R EF/F 2.7
D5 R YINE 28
D6 R YINE 2.8
D14 R VA= 2.8
& =R EXSVRFE 6.5 0.80
k1 =R EILY 4.7 0.81
D16 hR VA= 28
M1 =K Y30 35 0.84
M7 =R Ho30a 30 0.84
M9 =R o302 43 0.84
J11 R EF/F 2.8




BR-hA-ER BE-E
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KEAR=BEmImULE AR E60cmLl L3mEH EAR=#Z60cmEiH

No TR BE ma(m) BRAGARDOHA) HE

i1 =R HILAR) 4.4 0.84
K9 R HHUh 29

pl =R FTA)HNFIXF 5.0 0.84
M12 (=N Hoava 3.2 0.85
K15 R HHh 2.9

Mi14 =R Hrdoa 35 0.88
X1 (=N YYEE 6.0 0.90
~2 =R /¥ 6.0 0.90
~3 =R E/% 7.0 0.90
~1 =R /% 55 0.92
M6 =R Y301 3.2 0.98
M5 =R o302 35 1.05
M2 =K o320 3.0 1.12
j2 =R YALI ) 5.0 1.41
M3 =R Y30 338 1.54
5 =R YA/ 8.0 2.03
j4 =R VER =P 8.0 2.08
i3 =R YA/ 8.0 2.10
i6 =R JAL3AT ) 8.0 2.15
J3 =R EF/X 5.0 2.50
K16 =P/ N HHh 2.9

j7 =R YA/ 8.0 2.50




HiE- 2% HE-ER
12 BESHTEHERESREEAR
e A=H7600m L E3mAK i {EA=HE60omKiH Z=Z %

No TR BiE =1 =(m) EAE(n) fr K 5 E () &=
11 R AXYY 1.0 1.1 5.3
12 hR AXYY 0.8 0.4 1.4
H1 R HHUh 0.9 5.5 13.9
H2 R HHh 0.7 3.1 8.2
513 R HHh 0.7 2.1 6.3
H4 R YHoh 0.8 0.8 38
5 R HHh 0.8 14 6.7
516 R HHh 0.9 1.2 55
1 R wAVE VAP 0.9 18.8 248
2 EXR AL A% 0.5 2.3
3 EXR AL AP 05 1.9
4 EX wAVE VAP 0.4 20.9
5 EXR LA 0.3 05
6 EXR AL AP 05 0.8
97 R WAVE VAP 0.8 2.9 8.4
8 R HUxUUD 0.6 10 34
9 R LA 0.8 2.1 6.9
510 R I IID 0.8 1.2 49
Al R HUXxIYD 0.6 0.5 2.2
12 R AL AP 0.6 0.8 2.9
13 K VAL AP 0.6 3.6 8.6
14 R wAVE VAP 0.7 1.9 8.6
415 R AL A% 0.6 0.6 25
16 EXR AL AP 05 3.1
H17 =/ N WAVE AP 0.6 2.9 8.0
18 R YYD 0.6 2.0 6.3
419 R AL AP 0.7 7.7 13.2
20 EXR WAVE VAP 0.5 2.5
1 R A LSHXIVYD 1.0 185 27.9
V2 R ALY FIID 0.8 1.1 47
V3 R ALY IIY 1.2 2.0 8.8
V4 AR ALY FIID 1.0 3.9 12.3
5 R FALZHFIVYY 0.9 6.0 16.3
6 PR A LZHFIVYY 1.1 1.4 6.7
V7 hR ALY FIID 0.7 1.2 43
V8 R A LSHFIVYD 1.3 46 19.2
V9 PR A LZHFIVY 0.9 1.3 5.4
Y10 R ALY FIID 0.6 0.9 3.2
Y11 R FTHLSHFIVUD 0.8 1.3 5.0
V12 R FALZHFIVYY 14 3.0 14.2
Y13 R ALY IID 1.2 2.6 11.2
V14 R ALY FIID 14 1.7 9.3
W15 R A LZH IV 1.3 0.7 5.1
16 R A LZHFIVYY 1.2 105 30.9
Y17 R ALY FIID 14 42 15.7
K1 R (N PRI 1.4 125 22.5
K2 R NPE AN 1.1 9.0 16.2
21 = TA 14.8
Z2 % N 45
Z3 & ZA 427
4 a3 D7A 31.6
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No EH HiiE Eam)  BAGADH) %
D24 AR NI YUINF 0.9
D25 AR NI YUINF 0.9
D26 AR NI YUINF 1.0
t4 =R TAIIHYHS 9.0 0.10
B14 =mA A5 3.0 0.12
S1 thR FORXIEF 1.0
X7 thoK YIEE 1.0
D22 =mA IYINF 33 0.12
X4 hR YIEE 1.1
S59 AR rORRXIEF 15
B11 =R AXIY 35 0.13
D18 =R NI YUINF 3.2 0.13
S13 = A rORXIEF 45 0.14
22 =R ARAYINF 35 0.14
B8 =R AXIY 34 0.15
D471 hR NI YUINF 1.6
528 = A FORXIEF 5.0 0.15
Z3 =R ARAYINF 40 0.15
D42 hR NI YUINF 1.6
D8 hAR IYINF 1.8
Z4 =R ARAYINF 42 0.15
B12 =R AXIY 33 0.16
D29 hR NI YUINF 1.8
D9 hR IYINF 1.9
D11 hR NI YINF 1.9
D5 hR IYINF 2.0
D10 hR NI YUINF 2.0
D31 hR NI YUINF 2.0
D32 AR YIYUINF 2.0
K9 oK HHoh 2.0
K10 AR HHFh 2.0
K11 AR HHh 2.0
K12 R HHh 2.0
K14 R HHh 2.0
X6 =2}/ N YIEE 2.0
Z5 B AR ARAYNF 2.0
K7 R HHh 2.1
K8 R HHh 2.1
Z6 B AR ARAYNF 2.1
D33 =2}/ N YIYINFT 2.2
Z:0] R TTINA 2.2
BT AR AXYY 2.3
B2 AR AXYY 2.3
D19 AR I YINF 2.3
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KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

D35 K YIYINT 2.3
B15 [SEN AT 35 0.16
V64 R TTINA 2.3
C4 PR T 2.4
C5 R Vi 2.4
B22 [SEN AT 3.3 0.16
D13 K YIYINT 2.4
D17 K YIYINF 2.4
D21 K YIYUNFE 2.4
K2 =P N HHh 2.4
V120 hR TTINA 2.4
Bé6 R AXIG 25
B9 R AT 25
D34 = YIYINT 3.2 0.16
B10 ==}/ N ARXYY 25
B16 ==} N AT 25
C3 R Vi 25
S19 =R rORXIETF 3.0 0.16
D15 K YIYUNF 25
D27 K YIYUNF 25
D28 =P/ N YIYUNF 25
D36 =P/ N YIYUNF 25
D37 =P/ N YIYUNF 25
P23 hR REA 25
P24 hR REA 25
S45 hR rORXIEF 25
S22 =R rORXIEF 7.0 0.16
X117 =K YYEE 3.8 0.16
Z1 (=N AERAYINF 35 0.16
B4 (=N AXIY 3.6 0.18
K5 S HHoh 33 0.18
S11 =R rORXIEF 5.0 0.18
523 (SN FORXIETF 6.0 0.18
B13 =R AV 3.1 0.19
S52 (SN FORXIETF 3.6 0.19
B5 =R AXYH 3.3 0.20
B21 =R AV 40 0.20
D30 =N YIYUNFE 3.3 0.20
K6 =N HHh 3.4 0.20
S4 =R rORRXIETF 6.0 0.20
S7 =R rORRXIETF 6.0 0.20
S18 (=P8 FORXIETF 5.0 0.20
529 (=P8 FORXIETF 9.0 0.20
S53 (=P8 FORXIETF 5.0 0.20




BAR-ARER

13 #irHEBERESHREHB

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

AE—E

No TR HiiE Eam)  BAGADH) %
V63 =mA TTINA 40 0.20
B17 =mA A5 35 0.22
B18 =mA AR5 3.2 0.22
S2 =K FORXIEF 7.0 0.22
V121 PR TTINA 25
V132 PR TTINA 25
V133 PR TTINA 25
S26 =K FORXIEF 6.0 0.22
8532 = A rORRXZIEF 7.0 0.22
S35 = rORRXIEF 6.0 0.22
Vi47 AR TTINA 25
X2 hR YIEE 2.5
LM R HhAIhA4Tx 2.5
L2 R HhAIhA4Tx 2.5
L3 R HhAIhA4Tx 2.5
L V4 R HhAIhA4Tx 2.5
(AY] R HhAIhA4Tx 2.5
L\6 R HhAIhA4Tx 2.5
S41 = A rORXIEF 7.0 0.22
S48 =R rORRXIEF 7.0 0.22
R K hAIh4T+ 2.5
S56 =R FORXZIEF 9.0 0.22
V2 =R TTINA 35 0.22
D43 =R NI YUINF 33 0.25
K4 (=N HHh 36 0.25
S6 =R FORXZIEF 6.0 0.25
S12 =R FORXZIEF 8.0 0.25
S16 =R FORXZIEF 10.0 0.25
520 =R FORXIEF 7.0 0.25
S27 =R FORXZIEF 8.0 0.25
538 =R FORXZIEF 8.0 0.25
S47 =R FORXZIEF 7.0 0.25
549 =K rrORXIEF 7.0 0.25
S55 =K rrORXIEF 40 0.25
S60 =K rrORXIEF 8.0 0.25
S66 =K rrORXIEF 3.0 0.25
S67 =K rrORXIEF 3.0 0.25
S68 =K rrORXIEF 3.0 0.25
S69 =K rrORXIEF 3.0 0.25
S70 =K rORXIEF 3.0 0.25
L8 AR HhAIh4T+ 25
L9 AR hAIh4T+ 25
S72 =K rORXIEF 3.0 0.25
S73 =K rrORXIEF 3.0 0.25
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No TR HiiE Eam)  BAGADH) %
S74 =K FORXIEF 3.0 0.25
S75 =K FORXIEF 3.0 0.25
% =mA TTINA 3.7 0.25
V138 =mA TTINA 3.0 0.25
V148 =mA TTNA 40 0.25
S36 =K FORXIEF 8.0 0.26
S9 =K FORXIEF 9.0 0.27
S50 =K FORXIEF 40 0.27
S8 = A rORRXZIEF 8.0 0.28
S14 = rORRXIEF 40 0.28
S25 = A FORXIEF 5.0 0.28
537 = FORRXIEF 9.0 0.28
543 = A rORXIEF 8.0 0.28
S46 = A rORRXIEF 5.0 0.28
S54 = rORRXIEF 6.0 0.28
S62 = rORRXIEF 9.0 0.28
P8 = A AFTA 35 0.30
P26 = A AFTA 3.0 0.30
S10 = A rORXIEF 9.0 0.30
533 =R rORRXIEF 8.0 0.30
534 =R FORXZIEF 7.0 0.30
S42 =R FORXZIEF 9.0 0.30
LMo K hAIh4T+ 2.5
S51 =R FORXZIEF 6.0 0.30
V82 =R TTINA 48 0.30
Vio7 =R TTINA 40 0.30
Vi42 =R TTINA 40 0.30
V143 =R TTINA 3.0 0.30
Vi44 =R TTINA 38 0.30
V145 =R TTINA 45 0.30
t5 = A TAIRHFHS 6.0 0.30
S15 =R FORXZIEF 7.0 0.32
S17 =K rrORXIEF 8.0 0.32
S5 =R FORXIEF 7.0 0.33
S64 =K rrORXIEF 6.0 0.33
S31 =K rrORXIEF 6.0 0.34
S61 =K rrORXIEF 9.0 0.34
V40 =K ITINA 40 0.34
D45 =R NI YUINF 35 0.35
V9 =R TTINA 7.0 0.35
V10 =K ITINA 5.0 0.35
Vi7 =K ITINA 8.0 0.35
V131 =K ITINA 40 0.35
V136 =/ N TTINA 40 0.35
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No TR HiiE Eam)  BAGADH) %
V137 =mA TTINA 40 0.35
i1 =mA HILAANI) 4.0 0.35
i2 =mA HILAANI) 4.0 0.35
S63 (= FORXIETF 7.0 0.36
V4 =mA TTNA 7.0 0.36
524 =K FORXIEF 9.0 0.37
V44 =mA TTINA 40 0.38
V51 =mA TTINA 40 0.38
X33 =R YIEE 6.0 0.38
D44 =R NI YUINF 45 0.40
P40 = A AFTA 40 0.40
P46 = AFTA 36 0.40
S21 = A rORXIEF 8.0 0.40
S40 = A rORRXIEF 9.0 0.40
S44 = rORRXIEF 10.0 0.40
S57 = rORRXIEF 9.0 0.40
V6 = A TTINA 6.0 0.40
Vi4 = A TTINA 9.0 0.40
%] = A TTINA 5.0 0.40
V36 =R TTINA 40 0.40
Z =R TTINA 40 0.40
V49 =R TTINA 5.0 0.40
LM K hAIh4T+ 2.5
V109 =R TTINA 45 0.40
Vi19 =R TTINA 3.0 0.40
Vi22 =R TTINA 38 0.40
V134 =R TTINA 3.0 0.40
V140 =R TTINA 42 0.40
Vi41 =R TTINA 38 0.40
LV89 =R hAIh4T+ 3.1 0.40
LVo1 =R hAIh4T+ 3.1 0.40
L\96 =R hAIh4T+ 3.1 0.40
(V98 =R AT hA4T+ 3.2 0.40
LY99 =R AT hA4T+ 3.1 0.40
V43 =K ITINA 40 0.41
P31 = AR RETA 3.0 0.42
L2 R AT hA4T+ 25
V26 =K ITINA 9.0 0.42
V48 =K ITINA 40 0.42
V54 = A IFINA 5.0 0.42
V33 =K ITINA 40 0.44
V42 =K ITINA 40 0.44
P11 = A RETA 42 0.45
V47 = AR TTINA 5.0 0.45




BA-PA-ER BE-E

13 #irHEBERESHREHB

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
V50 =mA TTINA 5.0 0.45
V58 =mA TTINA 45 0.45
V66 =mA TTINA 5.0 0.45
V84 =mA TTINA 43 0.45
V103 =mA TTNA 35 0.45
V130 =mA TTINA 3.2 0.45
V135 =mA TTINA 4.2 0.45
X8 =mA YYEE 9.0 0.45

X17 =R YIEE 5.0 0.45
F15 =R oy VES 10.0 0.46
539 = A FORXIEF 9.0 0.46
Viz = TTINA 5.0 0.46
V46 = A TTINA 40 0.46
Viiz = A TTINA 5.0 0.46
V156 = TTINA 40 0.46
V39 = TTINA 5.0 0.47
V55 = A TTINA 5.0 0.47
S30 = A FORXIEF 10.0 0.48
V18 = A TTINA 9.0 0.48
V59 =R TTINA 40 0.48
X10 =R YIEE 7.0 0.48
S58 =R FORXZIEF 9.0 0.49
J2 =R NFAEF 6.0 0.50
S65 =R FORXZIEF 48 0.50
S71 =R FORXZIEF 48 0.50
V25 =R TTINA 10.0 0.50
V37 =R TTINA 5.0 0.50
V38 =R TTINA 5.0 0.50
V52 =R TTINA 5.0 0.50
V60 =R TTINA 40 0.50
V61 =R TTINA 45 0.50
V70 =R TTINA 45 0.50
Z =K ITINA 48 0.50
V92 =K ITINA 35 0.50
V100 =K ITINA 40 0.50
Vi1o =K ITINA 40 0.50
Vit =K ITINA 45 0.50
Vizs =K ITINA 35 0.50
t9 = AR THIIHYHS 3.0 0.50
LY90 =R AT h4T+ 3.2 0.50
LV92 =R HhAIh4T+ 3.1 0.50
(V93 =R hAIh4T+ 3.1 0.50
(V94 = A hAIh4T+ 3.2 0.50
L\95 = hAIh4T+ 3.2 0.50
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No TR HiiE Eam)  BAGADH) %
V97 =mA hAIh4Tx 3.2 0.50
F10 =mA W VES 7.0 0.52
V3 =mA TTINA 7.0 0.52
Vi3 =mA TTINA 7.0 0.52
(%1 =mA yavy 33 0.52
S3 =K FORXIEF 8.0 0.54
F4 =mA W VES 9.0 0.55
P17 =mA AFTA 45 0.55
%3 = A TTINA 9.0 0.55
V56 = TTINA 6.0 0.55
V62 = A TTINA 45 0.55
V69 = TTINA 45 0.55
V71 = A TTINA 48 0.55
V75 = A TTINA 42 0.55
V88 = TTINA 45 0.55
V98 = TTINA 3.0 0.55
V108 = A TTINA 48 0.55
V149 = A TTINA 48 0.55
X37 =R YIEE 45 0.55
t3 = A TAIRFHS 7.0 0.55
P43 =R RAFTA 40 0.56
V34 =R TTINA 5.0 0.56
V35 =R TTINA 5.0 0.56
t6 = A TAIRHFHS 6.0 0.56
V8 =R TTINA 9.0 0.57
Vi13 =R TTINA 55 0.57
(%2 =R 20y 3.2 0.57
V29 =R TTINA 10.0 0.58
V45 =R TTINA 5.0 0.58
LM3 B R hAIh4T+ 2.5
V53 =R TTINA 5.0 0.58
X16 =R YIEE 8.0 0.58
t2 = AR THIIHYHS 8.0 0.58
F3 =R rVES 9.0 0.60
F9 =R rVES 9.0 0.60
P4 = AR RETA 42 0.60
P19 = AR RETA 48 0.60
P25 (SN AEA 3.0 0.60
P32 = AR RETA 40 0.60
P44 = A RETA 45 0.60
Vit =K ITINA 8.0 0.60
V22 =K TTINOA 10.0 0.60
V28 =K TTINA 11.0 0.60
V97 =K ITINA 3.2 0.60
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No TR HiiE Eam)  BAGADH) %
V105 =mA TTINA 40 0.60
M4 R hAIh4A4Tx 2.5
Vits =mA TTINA 45 0.60
V123 =mA TTINA 45 0.60
X13 = A YYEE 8.0 0.60
X26 = A YYEE 55 0.60
X29 = A YYEE 6.0 0.60
4 =mA TTINA 8.0 0.62
X12 =R YIEE 8.0 0.62
t8 = AT HS 5.0 0.63
V7 = A TTINA 9.0 0.64
V27 = TTINA 10.0 0.64
s =R YIHI5 7.0 0.64
P5 = A AFTA 40 0.65
P6 = AFTA 40 0.65
P10 = AFTA 40 0.65
P14 = A AFTA 48 0.65
LM5 hR HhAIhA4Tx 2.5
P29 = A AFTA 45 0.65
P36 =R RAEFTA 45 0.65
P45 =R RAFTA 5.0 0.65
V32 =R TTINA 7.0 0.65
V72 =R TTINA 5.0 0.65
V76 =R TTINA 43 0.65
V78 =R TTINA 6.0 0.65
V85 =R TTINA 48 0.65
V104 =R TTINA 42 0.65
Vit4 =R TTINA 5.0 0.65
V157 =R TTINA 7.0 0.65
X9 =R YIEE 7.0 0.65
X24 =R YIEE 6.0 0.65
L83 =R hAIh4T+ 38 0.65
)84 = AR hAIh4T+ 38 0.65
(L \85 =R AT hA4T+ 38 0.65
(L \86 =R AT hA4T+ 38 0.65
(V87 =R AT hA4T+ 38 0.65
(RY:}:! =R AT hA4T+ 38 0.65
V19 =K ITINA 9.0 0.67
X15 =R YIEE 8.0 0.67
F2 =R FVES 10.0 0.68
F11 =R oy VES 9.0 0.68
LM16 R hAIh4T+ 25
M7 R AT h4T+ 25
Vi5s =K ITINA 9.0 0.68
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P15 =mA AFTA 4.2 0.70
P18 =mA AFTA 5.0 0.70
P21 =mA AFTA 3.0 0.70
(M8 R hAIh4Tx 2.5
P30 =mA AFTA 45 0.70
P37 =mA AFTA 47 0.70
P41 =mA AFTA 40 0.70
P42 =mA AFTA 5.0 0.70
P47 = A AFTA 5.0 0.70
L9 B R HhAIhA4Tx 2.5
LV20 B R HhAIhA4Tx 2.5
P48 = AFTA 55 0.70
S76 = A rORXIEF 45 0.70
V65 = A TTINA 45 0.70
V67 = TTINA 45 0.70
V68 = TTINA 40 0.70
Lh21 hR HhAIhA4Tx 2.5
V74 = A TTINA 5.3 0.70
V86 = A TTINA 5.1 0.70
V89 =R TTINA 5.0 0.70
V90 =R TTINA 5.0 0.70
V99 =R TTINA 35 0.70
V1ot =R TTINA 5.0 0.70
LV22 B R hAIh4T+ 2.5
LV23 B R hAIh4T+ 2.5
V106 =R TTINA 55 0.70
Vi16 =R TTINA 45 0.70
Vit7 =R TTINA 45 0.70
Vi1g =R TTINA 35 0.70
Vi24 =R TTINA 5.0 0.70
V152 =R TTINA 6.5 0.70
X14 =R YIEE 7.0 0.70
X28 =R YIEE 45 0.70
X371 =R YIEE 6.5 0.70
s3 =R YIHI5 5.0 0.70
F8 =R rVES 8.0 0.72
V24 =K TTINOA 11.0 0.72
24 R AT hA4T+ 25
V77 =K ITINA 48 0.72
V25 R AT h4T+ 25
V155 =K ITINA 6.0 0.72
1126 R hAIh4T+ 25
Lh27 R AT h4T+ 25
t1 = AR THIIHYHS 8.0 0.72
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Vi6 =mA TTINA 9.0 0.74
F7 = A W VES 9.5 0.75
P2 =mA AFTA 40 0.75
P7 =mA AFTA 45 0.75
P35 =mA AFTA 5.0 0.75
P38 =mA AFTA 45 0.75
7l =mA TTINA 5.3 0.75
V153 =mA TTINA 7.0 0.75
X5 =R YIEE 8.5 0.75
X21 =R YIEE 48 0.75
X25 =R YIEE 6.5 0.75
F14 =R oy VES 10.0 0.76
V20 = A TTINA 10.0 0.76
F5 =R oy VES 10.0 0.78
V154 = TTINA 7.0 0.78
s2 = YIHI5 10.0 0.78
V79 = A TTINA 48 0.79
P9 = A AFTA 45 0.80
P13 = A AFTA 5.0 0.80
P20 =R RAEFTA 5.0 0.80
V73 =R TTINA 5.0 0.80
V83 =R TTINA 5.0 0.80
V94 =R TTINA 6.5 0.80
V129 =R TTINA 6.0 0.80
X19 =R YIEE 6.0 0.80
X22 =R YIEE 48 0.80
X30 =R YIEE 6.0 0.80
X36 =R YIEE 55 0.80
V5 =R TTINA 85 0.83
X34 =R YIEE 6.5 0.83
J1 =R hFAEF 6.0 0.85
P12 =R RAEFTA 5.0 0.85
P28 = AR RETA 42 0.85
P39 (SN AEA 5.0 0.85
V57 =K ITINA 40 0.85
1128 R AT hA4T+ 25
V29 R AT hA4T+ 25
V95 =K ITINA 45 0.85
V150 =K ITINA 5.0 0.85
X27 =R YIEE 6.0 0.85
X32 =R YIEE 6.0 0.85
X35 =R YIEE 6.0 0.85
L\36 =R AT h4T+ 3.0 0.85
(V37 = hAIh4T+ 3.0 0.85




BA-PA-ER BE-E

13 #irHEBERESHREHB

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
1138 =mA hAIh4Tx 3.0 0.85
L)39 =mA hAIh4A4Tx 3.0 0.85
L 40 =mA hAIh4A4Tx 3.0 0.85
L V41 =mA hAIh4Tx 3.0 0.85
L V42 =mA hAIh4A4Tx 3.0 0.85
V43 =mA hAIh4Tx 3.0 0.85
L 44 =mA hAIh4A4Tx 3.0 0.85
L V45 =mA hAIh4A4Tx 3.0 0.85
L V46 = A HhAIhA4Tx 3.0 0.85
(V47 = HhAIhA4Tx 3.0 0.85
LV30 B R HhAIhA4Tx 2.5
LV31 B R HhAIhA4Tx 2.5
1132 hR HhAIhA4Tx 2.5
L\33 hR HhAIhA4Tx 2.5
1134 B R HhAIhA4Tx 2.5
L35 B R HhAIhA4Tx 2.5
D3 hAR IYINF 2.6
D4 hAR IYINF 2.6
D6 hAR IYINF 2.6
D12 hR NI YUINF 2.6
D16 hR NI YUINF 2.6
D20 hR NI YUINF 2.6
K3 R YHh 2.6
P3 FAR RAEFTA 2.6
B19 hR AXIY 2.7
D23 hR NI YUINF 2.7
D40 hR NI YUINF 2.7
V146 FAR TTINA 2.7
B3 hR AXIY 2.8
B7 hR AXIY 2.8
B23 hR AXIY 2.8
c1 R VT 2.8
c2? R Vi 2.8
D2 R YIYUNF 2.8
D7 R YIYUNF 2.8
D14 R YIYUNF 2.8
D38 R RUCSJAE S 2.8
D39 R YIYUNF 2.8
K1 AR HHh 2.8
K13 AR HHh 2.8
V96 AR TTINA 2.8
V126 AR TTINA 2.8
V139 AR TTINA 2.8
LM100 R hAIh4T+ 2.8




BA-PA-ER BE-E

13 #irHEBERESHREHB

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %

LV101 B R hAIh4Tx 2.8

L V48 = A hAIh4A4Tx 3.0 0.85
L V49 = A hAIh4A4Tx 3.0 0.85
LY50 = A hAIh4Tx 3.0 0.85
L5 = A hAIh4A4Tx 3.0 0.85
LV52 = A hAIh4Tx 3.0 0.85
LV53 = A hAIh4A4Tx 3.0 0.85
LV54 = A hAIh4A4Tx 3.0 0.85
L\55 =R HhAIhA4Tx 3.0 0.85
L\56 =R HhAIhA4Tx 3.0 0.85
LV57 =R HhAIhA4Tx 3.0 0.85
L\58 =R HhAIhA4Tx 3.0 0.85
LV59 =R HhAIhA4Tx 3.0 0.85
V60 =R HhAIhA4Tx 3.0 0.85
LV61 =R HhAIhA4Tx 3.0 0.85
1162 =R HhAIhA4Tx 3.0 0.85
LV63 =R HhAIhA4Tx 3.0 0.85
1164 =R HhAIhA4Tx 3.0 0.85
LV65 =R HhAIhA4Tx 3.0 0.85
L\66 =R hAIh4T+ 3.0 0.85
LV67 =R hAIh4T+ 3.0 0.85
1168 =R hAIh4T+ 3.0 0.85
LV69 =R hAIh4T+ 3.0 0.85
L\70 =R hAIh4T+ 3.0 0.85
L7 =R hAIh4T+ 3.0 0.85
LV72 =R hAIh4T+ 3.0 0.85
LV73 =R hAIh4T+ 3.0 0.85
L\74 =R hAIh4T+ 3.0 0.85
LV75 =R hAIh4T+ 3.0 0.85
L\76 =R hAIh4T+ 3.0 0.85
L\77 =R hAIh4T+ 3.0 0.85
L\78 =R hAIh4T+ 3.0 0.85
LV79 =R AT hA4T+ 3.0 0.85
L\80 =R AT hA4T+ 3.0 0.85
L 81 =R AT hA4T+ 3.0 0.85
1182 =R AT hA4T+ 3.0 0.85
V158 =K IFINA 7.0 0.86
V30 =K ITFINA 10.0 0.88
X18 =R YIEE 7.0 0.89
P34 =R RETA 45 0.90
V93 =K IFINA 6.0 0.90
Vioz =K IFINA 5.5 0.90
X23 =R YIEE 6.0 0.90
P27 (=P AEOA 5.3 0.95




BA-PA-ER BE-E

13 #irHEBERESHREHB

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No TR HiiE Eam)  BAGADH) %
P33 =mA AFTA 40 0.95
V87 =mA TTINA 48 0.95
X3 = A YYEE 8.0 0.95
F6 = A W VES 8.0 0.97
F13 = A W VES 10.0 1.00
F17 = A W VES 8.0 1.00
V151 =mA TTINA 6.0 1.00
t10 =R *TAIIYHS 35 1.00
s4 =R YIHI5 7.0 1.05
t7 = AT HS 6.0 1.05
t11 = A ATAIRTFHS 45 1.15
P16 = AFTA 45 1.20
X1 =R YIEE 8.0 1.20
F12 =R oy VES 12.0 1.38
F1 =R oy VES 10.0 1.40
P1 = AFTA 40 1.40
V127 =R TTINA 55 1.40
F16 =R oy VES 12.0 1.46
X38 =R YIEE 5.0 1.47
V128 =R TTINA 6.0 1.50
X20 =R YIEE 8.0 1.60
LV102 B R hAIh4T+ 2.8
1103 B R hAIh4T+ 2.8
LM104 B R hAIh4T+ 2.8
LM05 B R hAIh4T+ 2.8
LV106 B R hAIh4T+ 2.8
LM107 B R hAIh4T+ 2.8
LV108 B R hAIh4T+ 2.8
LM109 B R hAIh4T+ 2.8
LM10 B R hAIh4T+ 2.8
(AYRE! B R hAIh4T+ 2.8
LM12 hR hAIh4T+ 2.8
LM13 R AT hA4T+ 2.8
LM14 R AT hA4T+ 2.8
LM15 R AT hA4T+ 2.8
LM16 R AT hA4T+ 2.8
LM17 R AT hA4T+ 2.8
LM18 R AT hA4T+ 2.8
LM19 R AT hA4T+ 2.8
LM120 R AT h4T+ 2.8
Lv21 R HhAIh4T+ 2.8
LM22 R hAIh4T+ 2.8
LM23 R AT h4T+ 2.8
LM24 R hAIh4T+ 2.8




BAR-ARER

13 #irHEBERESHREHB

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

AE—E

No E B g Ba(m)  BEAGEAROH) #E
LM25 B R hAIh4Tx 2.8
LV126 B R hAIh4A4Tx 2.8
LM27 B R hAIh4A4Tx 2.8
LV128 B R hAIh4Tx 2.8
LM129 B R hAIh4A4Tx 2.8
LV130 B R hAIh4Tx 2.8
LV131 B R hAIh4A4Tx 2.8
LV132 B R hAIh4A4Tx 2.8
LV133 B R HhAIhA4Tx 2.8
B20 hR AXIY 2.9
D7 hR NI YUINF 2.9
X39 =R YIEE 6.0 1.60
P22 = A AFTA 45 7.00




HiE 2% HE-ER
13 #y HESERESREBR
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF

No TR BiE =1 =(m) EAE(n) fr K 5 E () &=
71 R FAR)TF 1.1 16.5 52.9
72 hR TAR)FP 1.1 17.6 36.7
73 R TA)F 1.1 18.0 378
74 R FA)F 1.1 15.0 33.7
75 R TA)F 1.0 16.2 33.2
76 R TAR)FP 1.0 14.3 305
77 R TAR)F 0.9 16.7 32.0
78 R TN 1.0 19.8 38.6
11 R AXYY 1.0 6.0 16.0
12 R AV 1.0 16.0 50.0
13 PR AXYY 0.8 1.0 42
14 R AXYY 0.8 15 55
15 R AXIY 0.8 1.5 55
16 h AR AXIHT 0.8 3.0 9.4
17 AR AXYY 0.8 5.0 14.6
18 R AXIY 0.9 4.0 13.0
19 R AV 1.0 14.0 29.2
110 R AXYH 1.0 9.0 28.0
111 R ARG 1.3 5.4 22.0
1 EXR AL AP 0.4 18.0
2 EXR VAL AP 0.4 5.0
3 EX wAVE VAP 0.3 7.0
4 EXR AL A% 0.5 21.0
5 EXR AL AP 0.4 7.0
6 R WAVE AP 0.8 31.0 493
97 R YYD 0.7 1.0 38
8 R AL AP 0.7 1.0 38
9 R WAVE VAP 0.7 1.0 38
210 R HUxUUD 0.7 10 3.8
11 R LA 0.7 1.0 38
12 R I IIT 0.7 1.0 3.8
13 R YYD 0.7 10 38
14 R AL A% 0.7 1.0 38
15 R AL AP 0.7 1.0 38
416 R wAVE VAP 0.7 10 38
H17 R YUY 0.7 1.0 38
18 R AL AP 0.7 1.0 38
19 R wAYE VA 0.7 1.0 38
20 R YYD 0.7 10 3.8
21 R AL AP 0.7 1.0 38
22 K I IID 0.7 1.0 38
423 R YYD 0.7 10 3.8
24 R LA 0.7 1.0 338
425 R AL AP 0.7 1.0 38
426 R wAVE VAP 0.7 1.0 38
27 R LA 0.6 48 10.1
428 AR AL AP 0.8 145 28.0
429 R wAVE VAP 0.9 18.2 34.0
30 EX YUY 0.5 26.5
431 AR YUy D 0.8 8.5 26.1
1 R ) NA 10 420 79.4
1 R FIIIITD 0.8 05 1.3




HiE- 2% RE-ER

13 #y HESERESREBR

e A=H7600m L E3mAK i {EA=HE60omKiH Z=Z %

No TR BE =1 =(m) EE(n) fh K 5 E () &=

V2 R FOTYYD 0.8 22.0 48.3
V3 hR FYIIIITD 10 450 108.0
V4 R FYITYID 1.0 64.0 153.0
V5 R FYITYYD 0.6 43.0 79.6
6 R FIIIITD 0.8 2.0 6.0
U7 R FIIIITD 0.9 2.0 5.6
8 R FUIIIITD 0.9 1.0 3.7
9 EXR FYIIYID 05 1.0
10 EX FIIIITD 05 5.0
Y11 EX FYIIIITD 0.4 38.0
V12 AR FYOTYYD 0.4 9.0
13 EX FYIIIITD 05 9.0
Y14 FAR F)ITIUYD 0.8 8.0 14.7
Y15 R FUIITIITD 1.0 23.0 52.5
Y16 R FYITYID 1.0 470 102.6
Y17 FAR FNITIUYD 1.0 32.0 98.0
V18 R FUIIIID 0.9 37.0 105.4
Y19 R FYITYID 0.9 110.0 223.0
20 FAR FYITYID 1.0 12.0 29.0
Y21 R FUIIIID 1.0 152.0 323.6
V22 R FYITYID 10 27.0 435
V23 R FIIIITD 10 115.0 203.7
24 R FYITYYD 0.8 12.3 25.2
25 R FYITIYD 1.0 13.0 28.4
26 R FIIIIT 0.9 11.2 24.9
V27 AR FITIYD 0.7 10.5 20.4
28 R FUIITIID 0.7 11.2 21.0
1 AR FORXZEF 2.8 71.4 416.1
A1 R YIYEE 1.6 3.0 14.2
iR R EHE 1.0 24.0 400 [RZAFAEF-IRS
2 R EAE 0.8 18.0 212 IRZHFAEF-FRS
1 a2 D7A 90.0
Z2 a3 DZA 100.0
&3 a2 TA 27.0
24 = A 32.0
Z5 <& DA 15.0
26 A A 20.0
1 a3 DA 190.0
=8 <& DA 60.0
Z9 = DA 1657.2




